0.5

=
o2
iN

1

o
O(n
o

.................................................

iy
TTTT T T
+
L

1

<o dxy > (um)

10 o . 10°
TP, (PCA t% beamling
—=— DQM_original_step2__ptOpltol_etaOp4tolp0
—e— DQM_mkFit_step2__ptOp1ltol_etaOp4tolp0
—— DQM_pixelCPETemplate_step2_ ptOpltol_etaOp4tolp0
— 100,

100

L S L

L 3 ¢t

r A r : : :
B0y e B 10 [EREEEEEEEEEE AREEEEEEEEE

r o r : : :

L : : : \ = : : :
GO R s GO ee e R s

40+

prs HRNR N S S

Ratio

S :
A r :
@ 0.5] oo
g =ob :
o L .
o) - :
Vo OF [
—0.5f e
Sab e
SLBf e e
R SO | |
o =4[ :
T r :
x [
14 e R R PR

20-_... ............................................. 20-_ .................................................

[y

TTTT] T
H
+

0.95

1

o
N

1

1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

Ratio

iy
TTTT] T
H
+

_1 2 3
10 L 1P (pca dbeamiindf



	Contents
	Page 1


